

Huaning Liu; Hui Dong

On the distribution of consecutive square-free primitive roots modulo p

Czechoslovak Mathematical Journal, Vol. 65 (2015), No. 2, 555–564

Persistent URL: <http://dml.cz/dmlcz/144288>

Terms of use:

© Institute of Mathematics AS CR, 2015

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON THE DISTRIBUTION OF CONSECUTIVE SQUARE-FREE
PRIMITIVE ROOTS MODULO p

HUANING LIU, HUI DONG, Xi'an

(Received October 3, 2014)

Abstract. A positive integer n is called a square-free number if it is not divisible by a perfect square except 1. Let p be an odd prime. For n with $(n, p) = 1$, the smallest positive integer f such that $n^f \equiv 1 \pmod{p}$ is called the exponent of n modulo p . If the exponent of n modulo p is $p - 1$, then n is called a primitive root mod p .

Let $A(n)$ be the characteristic function of the square-free primitive roots modulo p . In this paper we study the distribution

$$\sum_{n \leq x} A(n)A(n+1),$$

and give an asymptotic formula by using properties of character sums.

Keywords: square-free; primitive root; square sieve; character sum

MSC 2010: 11N25, 11B50, 11L40

1. INTRODUCTION

Let p be an odd prime. For any integer n with $(n, p) = 1$, the smallest positive integer f such that $n^f \equiv 1 \pmod{p}$ is called the exponent of n modulo p . If the exponent of n modulo p is $p - 1$, then n is called a primitive root mod p . On the other hand, a positive integer n is called a square-free number if it is not divisible by

The research has been supported by National Natural Science Foundation of China under Grant No. 11201370, the Science and Technology Program of Shaanxi Province of China under Grants Nos. 2013JM1017, 2014JM1007, 2014JQ2-1006 and 2014KJXX-61, and the Natural Science Foundation of the Education Department of Shaanxi Province of China under Grant No. 2013JK0558.

a perfect square except 1. From [7] we know that the number of positive square-free primitive roots modulo p not exceeding x equals

$$(1.1) \quad \frac{p\varphi(p-1)}{(p^2-1)\zeta(2)}x + O(2^{\omega(p-1)}p^{1/4}(\log p)^{1/2}x^{1/2}),$$

where φ is Euler's totient function, ζ is the Riemann zeta function, and $\omega(q)$ denotes the number of the distinct prime factors of q .

H. Liu and W. Zhang [2] improved the error term in (1.1). They showed that the number of positive square-free primitive roots modulo p that are less or equal x is

$$\frac{p\varphi(p-1)}{(p^2-1)\zeta(2)}x + O(p^{9/44+\varepsilon}x^{1/2+\varepsilon}),$$

where ε is any fixed positive number.

In this paper we study the distribution of consecutive square-free primitive roots modulo p and give an asymptotic formula, by using properties of character sums. Our main result is the following.

Theorem 1.1. *Let p be an odd prime, and let $A(n)$ be the characteristic function of the square-free primitive roots modulo p . Then we have*

$$\begin{aligned} \sum_{n \leq x} A(n)A(n+1) &= x \frac{\varphi^2(p-1)}{(p-1)^2} \frac{p(p-2)}{p^2-2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right) \\ &\quad + O(4^{\omega(p-1)}p^{-1/2}(\log p)x + 4^{\omega(p-1)}p^{1/4}(\log p)^{1/2}x^{1/2} \log x), \end{aligned}$$

where the O -constant is absolute, and \prod_{p_1} denotes the product over all primes p_1 .

From Theorem 1.1 we immediately get a corollary.

Corollary 1.1. *Let p be an odd prime, and let $x \geq 1$ be a real number with $p \asymp x^{2/3}$, i.e., $p \ll x^{2/3}$ and $x \ll p^{3/2}$. Then*

$$\sum_{n \leq x} A(n)A(n+1) = x \frac{\varphi^2(p-1)}{(p-1)^2} \frac{p(p-2)}{p^2-2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right) + O(x^{2/3+\varepsilon}).$$

We will study the distribution of consecutive square-free numbers coprime to p in Section 2, and give some estimates for character sums over consecutive square-free numbers in Section 3. Finally we will prove Theorem 1.1 in Section 4 by using the results of Section 2 and Section 3.

2. CONSECUTIVE SQUARE-FREE NUMBERS COPRIME TO p

Let $E(n)$ be the characteristic function of the sequence of square-free numbers. From [5] we know that

$$\sum_{n \leq x} E(n) = \frac{6}{\pi^2}x + O(x^{1/2}).$$

L. Mirsky [3] studied the frequency of pairs of square-free numbers with a given difference, and proved the asymptotic formula

$$\sum_{n \leq x} E(n)E(n+r) = x \prod_p \left(1 - \frac{2}{p^2}\right) \prod_{p^2|r} \left(1 + \frac{1}{p^2-2}\right) + O_r(x^{2/3}(\log x)^{4/3}).$$

D.R. Heath-Brown [1] studied the number of consecutive square-free numbers not greater than x , and obtained the following result:

$$\sum_{n \leq x} E(n)E(n+1) = x \prod_p \left(1 - \frac{2}{p^2}\right) + O(x^{7/11}(\log x)^7).$$

From [1] we have a lemma.

Lemma 2.1. *Let x and y be real numbers with $y = x^{7/11}(\log x)^6$. Then*

$$xy^{-1} \log y + y \log y + \sum_{\substack{j,k \\ jk > y}} \sum_{\substack{n \leq x \\ j^2 | n \\ k^2 | n+1}} 1 \ll x^{7/11}(\log x)^7.$$

Now we study the mean value

$$E(n)E(n+1),$$

by using Heath-Brown's method, and give an asymptotic formula.

Theorem 2.1. *Let p be an odd prime. Then*

$$\sum_{\substack{n \leq x \\ (n(n+1), p) = 1}} E(n)E(n+1) = x \frac{p(p-2)}{p^2-2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right) + O(x^{7/11}(\log x)^7).$$

Proof. Let $\mu(n)$ be the Möbius function. It is not hard to show that

$$E(n) = \sum_{j^2 | n} \mu(j).$$

We get

$$\begin{aligned}
(2.1) \quad & \sum_{\substack{n \leq x \\ (n(n+1), p)=1}} E(n)E(n+1) = \sum_{\substack{n \leq x \\ (n(n+1), p)=1}} \sum_{\substack{j^2 | n \\ k^2 | n+1}} \mu(j) \sum_{k^2 | n+1} \mu(k) \\
& = \sum_j \sum_k \mu(j) \mu(k) \sum_{\substack{n \leq x \\ (n(n+1), p)=1 \\ j^2 | n \\ k^2 | n+1}} 1 = \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ jk \leq y}} \mu(j) \mu(k) \sum_{\substack{n \leq x \\ (n(n+1), p)=1 \\ j^2 | n \\ k^2 | n+1}} 1 \\
& = \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ jk \leq y}} \mu(j) \mu(k) \sum_{\substack{n \leq x \\ (n(n+1), p)=1 \\ j^2 | n \\ k^2 | n+1}} 1 + \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ jk > y}} \mu(j) \mu(k) \sum_{\substack{n \leq x \\ (n(n+1), p)=1 \\ j^2 | n \\ k^2 | n+1}} 1 \\
& = \Sigma_1 + \Sigma_2.
\end{aligned}$$

Note that

$$\begin{aligned}
\sum_{\substack{n \leq x \\ (n(n+1), p)=1 \\ j^2 | n \\ k^2 | n+1}} 1 & = \sum_{\substack{n \leq x \\ j^2 | n \\ k^2 | n+1}} 1 - \sum_{\substack{n \leq x \\ p | n \\ j^2 | n \\ k^2 | n+1}} 1 - \sum_{\substack{n \leq x \\ p | n+1 \\ j^2 | n \\ k^2 | n+1}} 1 \\
& = \frac{x}{j^2 k^2} - \frac{x}{j^2 k^2 p} - \frac{x}{j^2 k^2 p} + O(1) \\
& = \frac{x}{j^2 k^2} \left(1 - \frac{2}{p}\right) + O(1).
\end{aligned}$$

Thus we have

$$\begin{aligned}
\Sigma_1 & = x \left(1 - \frac{2}{p}\right) \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ jk \leq y}} \frac{\mu(j) \mu(k)}{j^2 k^2} + O\left(\sum_{jk \leq y} 1\right) \\
& = x \left(1 - \frac{2}{p}\right) \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1}} \frac{\mu(j) \mu(k)}{j^2 k^2} + O\left(x \sum_{n > y} \frac{d(n)}{n^2}\right) + O\left(\sum_{n \leq y} d(n)\right),
\end{aligned}$$

where $d(n)$ is the divisor function.

Noting that

$$\sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1}} \frac{\mu(j) \mu(k)}{j^2 k^2} = \frac{p^2}{p^2 - 2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right),$$

we get

$$(2.2) \quad \Sigma_1 = x \frac{p(p-2)}{p^2-2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right) + O(xy^{-1} \log y) + O(y \log y).$$

Now from (2.1), (2.2) and Lemma 2.1 we immediately get

$$\sum_{\substack{n \leq x \\ (n(n+1), p) = 1}} E(n)E(n+1) = x \frac{p(p-2)}{p^2-2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right) + O(x^{7/11} (\log x)^7).$$

This proves Theorem 2.1. □

3. CHARACTER SUMS OVER CONSECUTIVE SQUARE-FREE NUMBERS

Let $q > 2$ be an integer, and let χ be a non-principal character modulo q . From the classical inequality of Pólya-Vinogradov we know that

$$\sum_{n \leq x} \chi(n) \leq 6\sqrt{q} \log q.$$

M. Munsch [4] studied character sums over square-free numbers, and gave the upper bounds

$$\sum_{n \leq x} E(n)\chi(n) \ll \begin{cases} x^{1/2} q^{1/4} (\log q)^{1/2}, \\ x^{1/2} (\log x) q^{3/16+\varepsilon}. \end{cases}$$

Moreover, from Lemma 3 of [6] we know the following estimate for character sums of polynomials.

Lemma 3.1. *Suppose that p is a prime number, χ is a non-principal character modulo p of order d , $f(x) \in \mathbb{F}_p[x]$ has s distinct zeros in $\overline{\mathbb{F}}_p$ and is not a constant multiple of the d -th power of a polynomial over \mathbb{F}_p . Let X, Y be real numbers with $0 < Y \leq p$. Then we have*

$$\left| \sum_{X < n \leq X+Y} \chi(f(n)) \right| < 9sp^{1/2} \log p.$$

In this section we study character sums over consecutive square-free numbers, and give some asymptotic formulas.

Theorem 3.1. *Let p be an odd prime, and let χ_1, χ_2 be non-principal characters modulo p . Then we have*

$$(3.1) \quad \sum_{n \leq x} E(n)\chi_1(n)E(n+1)\chi_2(n+1) \\ \ll \frac{\log p}{p^{1/2}}x + p^{1/4}(\log p)^{1/2}x^{1/2} \log x + x^{7/11}(\log x)^7,$$

$$(3.2) \quad \sum_{\substack{n \leq x \\ (n+1, p)=1}} E(n)\chi_1(n)E(n+1) \ll p^{1/4}(\log p)^{1/2}x^{1/2} \log x + x^{7/11}(\log x)^7,$$

$$(3.3) \quad \sum_{\substack{n \leq x \\ (n, p)=1}} E(n)E(n+1)\chi_2(n+1) \ll p^{1/4}(\log p)^{1/2}x^{1/2} \log x + x^{7/11}(\log x)^7.$$

Proof. We only prove (3.1), since similarly we can get the other relations. Let y and z be integers with $\sqrt{x/p} < z < \sqrt{x} < y \leq x$. It is not hard to show that

$$\begin{aligned} \sum_{n \leq x} E(n)\chi_1(n)E(n+1)\chi_2(n+1) &= \sum_{n \leq x} \chi_1(n)\chi_2(n+1) \sum_{j^2|n} \mu(j) \sum_{k^2|n+1} \mu(k) \\ &= \sum_j \sum_k \mu(j)\mu(k) \sum_{\substack{n \leq x \\ j^2|n \\ k^2|n+1}} \chi_1(n)\chi_2(n+1) \\ &= \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1}} \mu(j)\mu(k) \sum_{\substack{n \leq x \\ j^2|n \\ k^2|n+1}} \chi_1(n)\chi_2(n+1) \\ &= \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ jk \leq \sqrt{x/p}}} \mu(j)\mu(k) \sum_{\substack{n \leq x \\ j^2|n \\ k^2|n+1}} \chi_1(n)\chi_2(n+1) + \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ \sqrt{x/p} < jk \leq z}} \mu(j)\mu(k) \sum_{\substack{n \leq x \\ j^2|n \\ k^2|n+1}} \chi_1(n)\chi_2(n+1) \\ &\quad + \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ z < jk \leq \sqrt{x}}} \mu(j)\mu(k) \sum_{\substack{n \leq x \\ j^2|n \\ k^2|n+1}} \chi_1(n)\chi_2(n+1) \\ &\quad + \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ \sqrt{x} < jk \leq y}} \mu(j)\mu(k) \sum_{\substack{n \leq x \\ j^2|n \\ k^2|n+1}} \chi_1(n)\chi_2(n+1) + \sum_{\substack{j, k \\ (j, k)=1 \\ (jk, p)=1 \\ jk > y}} \mu(j)\mu(k) \sum_{\substack{n \leq x \\ j^2|n \\ k^2|n+1}} \chi_1(n)\chi_2(n+1). \end{aligned}$$

Suppose that $n_0 = n_0(j, k)$ is the solution of the congruence equations

$$n \equiv 0 \pmod{j^2}, \quad n \equiv -1 \pmod{k^2}$$

satisfying $1 \leq n_0 \leq j^2 k^2$. We have

$$\begin{aligned} \sum_{\substack{n \leq x \\ j^2 | n \\ k^2 | n+1}} \chi_1(n) \chi_2(n+1) &= \sum_{\substack{n \leq x \\ n \equiv n_0 \pmod{j^2 k^2}}} \chi_1(n) \chi_2(n+1) \\ &= \sum_{0 \leq m \leq (x-n_0)/(j^2 k^2)} \chi_1(mj^2 k^2 + n_0) \chi_2(mj^2 k^2 + n_0 + 1). \end{aligned}$$

Let χ^* be a character modulo p of order $p-1$. Supposing that $\text{ord}(\chi_1) = d_1$ and $\text{ord}(\chi_2) = d_2$, we have $\chi_1 = (\chi^*)^{a_1(p-1)/d_1}$ for some a_1 with $(a_1, d_1) = 1$ and $\chi_2 = (\chi^*)^{a_2(p-1)/d_2}$ for some a_2 with $(a_2, d_2) = 1$. Hence,

$$\begin{aligned} &\sum_{0 \leq m \leq (x-n_0)/j^2 k^2} \chi_1(mj^2 k^2 + n_0) \chi_2(mj^2 k^2 + n_0 + 1) \\ &= \sum_{0 \leq m \leq (x-n_0)/j^2 k^2} \chi^*((mj^2 k^2 + n_0)^{a_1(p-1)/d_1} (mj^2 k^2 + n_0 + 1)^{a_2(p-1)/d_2}) \\ &= \sum_{0 \leq m \leq (x-n_0)/j^2 k^2} \chi^*(f(m)), \end{aligned}$$

where $f(m) = (mj^2 k^2 + n_0)^{a_1(p-1)/d_1} (mj^2 k^2 + n_0 + 1)^{a_2(p-1)/d_2}$. Therefore

$$\begin{aligned} &\sum_{n \leq x} E(n) \chi_1(n) E(n+1) \chi_2(n+1) \\ &\ll \sum_{\substack{j, k \\ (j, k) = 1 \\ (jk, p) = 1 \\ jk \leq \sqrt{x/p}}} \left| \sum_{0 \leq m \leq (x-n_0)/j^2 k^2} \chi^*(f(m)) \right| + \sum_{\substack{j, k \\ (j, k) = 1 \\ (jk, p) = 1 \\ \sqrt{x/p} < jk \leq z}} \left| \sum_{0 \leq m \leq (x-n_0)/j^2 k^2} \chi^*(f(m)) \right| \\ &+ \sum_{\substack{j, k \\ z < jk \leq \sqrt{x}}} \frac{x}{j^2 k^2} + \sum_{\substack{j, k \\ (j, k) = 1 \\ (jk, p) = 1 \\ jk \leq y}} 1 + \sum_{\substack{j, k \\ jk > y}} \sum_{\substack{n \leq x \\ j^2 | n \\ k^2 | n+1}} 1. \end{aligned}$$

It is obvious that $f(m)$ has two distinct zeros in $\overline{\mathbb{F}}_p$ and is not a constant multiple of the $(p-1)$ -st power of a polynomial over \mathbb{F}_p . By Lemma 3.1 we have

$$\begin{aligned}
 (3.4) \quad \sum_{n \leq x} E(n)\chi_1(n)E(n+1)\chi_2(n+1) &\ll \sum_{\substack{j,k \\ jk \leq \sqrt{x/p}}} \frac{x}{pj^2k^2} p^{1/2} \log p \\
 &+ \sum_{\substack{j,k \\ \sqrt{x/p} < jk \leq z}} p^{1/2} \log p + xz^{-1} \log z + y \log y + \sum_{\substack{j,k \\ jk > y}} \sum_{\substack{n \leq x \\ j^2 | n \\ k^2 | n+1}} 1 \\
 &\ll \frac{x}{p^{1/2}} \log p + z(\log z)p^{1/2} \log p + xz^{-1} \log z + y \log y + \sum_{\substack{j,k \\ jk > y}} \sum_{\substack{n \leq x \\ j^2 | n \\ k^2 | n+1}} 1.
 \end{aligned}$$

Taking $z = x^{1/2}/(p^{1/4}(\log p)^{1/2})$, $y = x^{7/11}(\log x)^6$ and applying Lemma 2.1 we get

$$\begin{aligned}
 &\sum_{n \leq x} E(n)\chi_1(n)E(n+1)\chi_2(n+1) \\
 &\ll \frac{\log p}{p^{1/2}} x + p^{1/4}(\log p)^{1/2} x^{1/2} \log x + x^{7/11}(\log x)^7.
 \end{aligned}$$

□

4. PROOF OF THEOREM 1.1

Let p be an odd prime, $A(n)$ be the characteristic function of the square-free primitive roots modulo p , and let $E(n)$ be the characteristic function of the square-free numbers. Noting that

$$\frac{\varphi(p-1)}{p-1} \sum_{d|p-1} \frac{\mu(d)}{\varphi(d)} \sum_{\substack{\chi \bmod p \\ \text{ord}(\chi)=d}} \chi(n) = \begin{cases} 1, & \text{if } n \text{ is a primitive root modulo } p, \\ 0, & \text{otherwise.} \end{cases}$$

We have

$$\begin{aligned}
 \sum_{n \leq x} A(n)A(n+1) &= \frac{\varphi^2(p-1)}{(p-1)^2} \\
 &\times \sum_{d_1|p-1} \frac{\mu(d_1)}{\varphi(d_1)} \sum_{\substack{\chi_1 \bmod p \\ \text{ord}(\chi_1)=d_1}} \sum_{d_2|p-1} \frac{\mu(d_2)}{\varphi(d_2)} \sum_{\substack{\chi_2 \bmod p \\ \text{ord}(\chi_2)=d_2}} \sum_{n \leq x} E(n)\chi_1(n)E(n+1)\chi_2(n+1)
 \end{aligned}$$

$$\begin{aligned}
&= \frac{\varphi^2(p-1)}{(p-1)^2} \sum_{\substack{n \leq x \\ (n(n+1), p) = 1}} E(n)E(n+1) \\
&+ \frac{\varphi^2(p-1)}{(p-1)^2} \sum_{\substack{d_1 | p-1 \\ d_1 > 1}} \frac{\mu(d_1)}{\varphi(d_1)} \sum_{\substack{\chi_1 \bmod p \\ \text{ord}(\chi_1) = d_1}} \sum_{\substack{n \leq x \\ (n+1, p) = 1}} E(n)\chi_1(n)E(n+1) \\
&+ \frac{\varphi^2(p-1)}{(p-1)^2} \sum_{\substack{d_2 | p-1 \\ d_2 > 1}} \frac{\mu(d_2)}{\varphi(d_2)} \sum_{\substack{\chi_2 \bmod p \\ \text{ord}(\chi_2) = d_2}} \sum_{\substack{n \leq x \\ (n, p) = 1}} E(n)E(n+1)\chi_2(n+1) \\
&+ \frac{\varphi^2(p-1)}{(p-1)^2} \sum_{\substack{d_1 | p-1 \\ d_1 > 1}} \frac{\mu(d_1)}{\varphi(d_1)} \sum_{\substack{\chi_1 \bmod p \\ \text{ord}(\chi_1) = d_1}} \sum_{\substack{d_2 | p-1 \\ d_2 > 1}} \frac{\mu(d_2)}{\varphi(d_2)} \\
&\quad \times \sum_{\substack{\chi_2 \bmod p \\ \text{ord}(\chi_2) = d_2}} \sum_{n \leq x} E(n)\chi_1(n)E(n+1)\chi_2(n+1).
\end{aligned}$$

Then from Theorem 2.1 and Theorem 3.1 we get

$$\begin{aligned}
\sum_{n \leq x} A(n)A(n+1) &= x \frac{\varphi^2(p-1)}{(p-1)^2} \frac{p(p-2)}{p^2-2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right) \\
&+ O(4^{\omega(p-1)} p^{-1/2} (\log p)x + 4^{\omega(p-1)} p^{1/4} (\log p)^{1/2} x^{1/2} \log x + 4^{\omega(p-1)} x^{7/11} (\log x)^7).
\end{aligned}$$

Noting that

$$p^{-1/2} (\log p)x + p^{1/4} (\log p)^{1/2} x^{1/2} \log x \gg x^{2/3} (\log x)^{2/3} (\log p)^{2/3},$$

we immediately conclude

$$\begin{aligned}
\sum_{n \leq x} A(n)A(n+1) &= x \frac{\varphi^2(p-1)}{(p-1)^2} \frac{p(p-2)}{p^2-2} \prod_{p_1} \left(1 - \frac{2}{p_1^2}\right) \\
&+ O(4^{\omega(p-1)} p^{-1/2} (\log p)x + 4^{\omega(p-1)} p^{1/4} (\log p)^{1/2} x^{1/2} \log x).
\end{aligned}$$

This completes the proof of Theorem 1.1. □

Acknowledgment. The authors express their gratitude to the referee for his/her helpful and detailed comments.

References

- [1] *D. R. Heath-Brown*: The square sieve and consecutive square-free numbers. *Math. Ann.* 266 (1984), 251–259.
- [2] *H. Liu, W. Zhang*: On the squarefree and squarefull numbers. *J. Math. Kyoto Univ.* 45 (2005), 247–255.
- [3] *L. Mirsky*: On the frequency of pairs of square-free numbers with a given difference. *Bull. Amer. Math. Soc.* 55 (1949), 936–939.
- [4] *M. Munsch*: Character sums over squarefree and squarefull numbers. *Arch. Math. (Basel)* 102 (2014), 555–563.
- [5] *F. Pappalardi*: A survey on k -freeness. *Number Theory* (S. D. Adhikari et al., eds.). Conf. Proc. Chennai, India, 2002, Ramanujan Mathematical Society, Ramanujan Math. Soc. Lect. Notes Ser. 1, Mysore, 2005, pp. 71–88.
- [6] *J. Rivat, A. Sárközy*: Modular constructions of pseudorandom binary sequences with composite moduli. *Period. Math. Hung.* 51 (2005), 75–107.
- [7] *H. N. Shapiro*: *Introduction to the Theory of Numbers*. Pure and Applied Mathematics. Wiley-Interscience Publication, John Wiley & Sons. 12, New York, 1983.

Authors' address: Huaning Liu, Hui Dong, School of Mathematics, Northwest University, 1 Xuefu Avenue, Xi'an 710127, Shaanxi, P. R. China, e-mail: hnliumath@hotmail.com, donghuionly@163.com.